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¢ (81 - Drilling Cycle
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Step

| Description of GBI Cycle

1

Rapid motion to XY position

2

Rapid motion to R level

3

Feedrate motion to Z depth

4

l Rapid retract to initial level (with (G0R)
- or Rapid retract to R level (with G99)

1o+ zDepTH
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Description of GBZ cycle

Rapid motion to XY position

Rapid motion to KR level

Feedrate motion 10 Z deprh
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Dwell at the depth - in milliseconds (P-)
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Rapid retract to initial level (with GO&)
or Rapid retract to R leve! (with G99)
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CAD /CAM

The number of spaces for a six hole pattern is five, so the X
axis increment (the delta X) is:

10.82 / 5 = 2.1640
and the Y axis increment (the delta Y) i1s:
2.0 785 = .4

A= tan(2.0 / 10.82) = 10.47251349°

C=2.0/ sinA = 11.00329063

ClL=C/ 5 = 2.20065813

X increment = Cl x cosA = 2.1640
Y incoramant = Ul %X sinA = .4000
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X =4,0 x cogls = 3.863703305

Y =4.0 x sinl5 = 1.03527618
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